H & 0l & AHS B Ml A

Nz PHSHEHEEXIA

=aak —’F—J_‘E:F;;;JH&;%O (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ra=pl =g, 7,927,932 3,745,220 4,182,712
= 2,246,361
== 337,275
[Ea 5,344,296
RS FHEE Y 742,722 689,550 53,172
= 95,661
< 20,760
= 626,301
FHSZ LRI 742,722 689,550 83,172
= 95,661
== 20,760
o 626,301
BIEENAI 40,000 50,000 10,000
401 AIEHIZ R HYI 40,000 50,000 10,000
01 Al&H| 40,000 50,000 10,000
OBIEENAIL 40,000
g B BXNF=IE A 450,000 450,000 0
401 Al HIZ 2018 450,000 450,000
01 Al&H| 450,000 450,000
od o AXFIE YA
150,000,000 *3JH 2 450,000
BlIY HE XA 5,000 15,000 10,000
201 fer=3| 5,000 15,000 10,000
02 s3=gHl 5,000 15,000 10,000
(OFIFSIRSI FSEN P o 5,000
BIEE A 19,200 16,200 3,000
= 5,760
= 13,440
402 QI”F X201 & 19,200 16,200 3,000
= 5,760
[Ea 13,440
02 QI X2 AL E R (0IHTHR) 19,200 16,200 3,000
OEIEZHIAIE 19,200
OsdI0IEXS 600,000& »25 13,200
== 3,960
o 9,240
OogetE 1,200,000& 55 6,000
= 1,800
= 4,200
YA IHIXAAE 37,200 42,600 A5,400
402 2IZtA=01d 37,200 42,600 A5,400
01 BIZEXF AL E X (XL 37,200 42,600 25,400
OB ZFEHIXI A ( Hed Al 37,200




SA AN
M YRBEHSALA
Rl FHEEHEXE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsdIOIEXS 900,000& *38S 34,200
odeE 300,000&*10S 3,000
sE0less A2 A 91,322 0 91,322
= 45,661
s 45,661
308 AFAIEHMSOIE 91,322 0 91,322
= 45,661
Ea 45,661
13 S [2S0tHet 4 A AS A 91,322 0 91,322
SENSRENATAHBIZAEHTA}) 91,322
= 45,661
= 45,661
SSAE SH=AY 100,000 100,000 0
= 50,000
== 15,000
= 35,000
401 Al HIZL 201 100,000 100,000 0
= 50,000
[ 15,000
Ea 35,000
01 Al&H| 100,000 100,000 0
OSSANE SE=AY 100,000
= 50,000
== 15,000
o 35,000
ASHHIL2E 37,780 68,480 230,700
rab-t=a=pl fa] 17,780 48,480 230,700
ASHYES 17,780 18,480 AT700
201 er23| 13,880 16,480 22,600
01 AtR2t2|HI 13,880 16,480 A2,600
Odgt+=h| 2,000
Od= gFFN 42234 1,000
O2E TA-2Y| 100,000 %1052 1,000
o23+¢ 11,880
O334=It 20| 880
OS3A=H2Ida &=2(UH)
100,000&*5& *13] 500
OZ33AFYARANS A (MH)
50,0002 x5 +63] 1,500
OA=LAA3 HFA+=(HH)
100,000& x26E 12l 2,600
OU=2AE 42 (M)
50,0003 26 H *42] 5,200




SA AN
B ASHEUSY
&Pl A=SE A (SH9 H2)
SA - ZE - BR(30) - HRA - B of v e HIDE2
O3&8dA=It 2824l S 1,200
203 HE=H| 1,500 2,000 2500
03 A= LR F&IH| 1,500 2,000 A500
OAIHFNH =AY 1,500
Od=8d ge=a 500
Otlgag & QAR 1,000
308 XtXIEMSOIH 2,400 2,400
13 21 2SHICheH A E S EALIY| 2,400 2,400
0% ZR A22 DY)
1,200,000 *23] 2,400
=S AIE S 2] 20,000 20,000 0
ASANSERUY == 15,000 15,000 0
201 fer= 3| 15,000 15,000 0
01 AtR2tc|HI 15,000 15,000 0
OASAER U2 15,000
dEZ RA2CIA 5,000 5,000 0
201 =3 5,000 5,000
01 At2t2lt] 5,000 5,000
OH=SALIHEN ZE U2 5,000
=& 24 & 2 4,231,800 386,860 3,844,940
s 45,000
s 4,186,800
FHEMNH 231,800 136,860 94,940
[ 45,000
Ea 186,800
SSTECIXIE 150,000 40,860 109,140
= 45,000
= 105,000
402 QI”F X201 & 150,000 40,860 109,140
= 45,000
[Ea 105,000
02 QI X2 AL E R (01X THE) 150,000 40,860 109, 140
0272 ssFacl A 150,000
= 45,000
o 105,000
SSTE 2| X2 (KHA) 81,800 75,000 6,800
402 2I2E X201 & 81,800 75,000 6,800
01 QI XH2AILE X (KHMITHE) 81,800 75,000 6.800
O3Szl XE A 81,800
SESTHAH 4,000,000 250,000 3,750,000
AN HAAE XIZFEAIL (D" MRAXIT) 1,950,000 0 1,950,000
401 AIZHIZL S HY 1,950,000 0 1,950,000




SA AFONE
Bzl 21d o 2o
el SSFEAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 1,950,000 0 1,950,000
OEXIHbl 1,950,000
LN HAAE X2 F=AL (23 BHEXIT) 2,050,000 2,050,000
401 AIEHIX R0 2,050,000 2,050,000
01 A28l 2,050,000 2,050,000
OEXI0HHI 1,850,000
OEtd Al S S48 200,000
MBIS=HOHE 2,793,130 2,477,330 315,800
= 2,137,400
= 267,525
s 388,205
F=HSH X2 2,671,250 2,386,250 285,000
= 2,137,000
== 267,125
[Ea 267,125
FHSN 2,671,250 2,386,250 285,000
= 2,137,000
= 267,125
o 267,125
301 Eet2 NS 2,223,250 1,985,219 238,031
= 1,778,600
= 222,325
Ea 222,325
01 Al EE A S (2 RDEERA) 2,223,250 1,985,219 238,031
OYXSH(E=3-252 - i) 2,223,250
= 1,778,600
= 222,325
= 222,325
308 AXIMSOIA 448,000 401,031 46,969
= 368,400
= 44,800
= 44,800
18 SIS0t oA AS A 448,000 401,031 46,969
O=ERXNSH(8S-E - & - UHE=) 448,000
= 368,400
< 44,800
= 44,800
F=HAR X 121,880 91,080 30,800
= 400
S 400
= 121,080
dEFF FAHNS WE0IA X 51,080 51,080 0
201 er23| 1,080 1,080 0
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ra=p k=

B MOIEI 0
SRl FHEAA X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,080 1,080 0
O&+2 M (82) 960
EAE HH(S2) 120
301 EtE NS 50,000 50,000 0
02 ARI2HHSHS(HAAS, NLHE) 50,000 0 50,000
OUESRE F=HI=S UWE0IA K& 50,000
MASHE dUHESS N 70,000 40,000 30,000
501 A= 70,000 40,000 30,000
01 2RtEX=2 70,000 40,000 30,000
OMASHES SUHES= RO0IN A 70,000
OIAHH] XIZ A 800 0 800
= 400
< 400
301 eEtE N = 800 0 800
2 400
= 400
01 ARRI2HASHS(SDERHS) 800 0 800
OO0IAHEI XIZALS 400,000 x2It=1 800
2 400
= 400
0 FH=EX S8 26,600 26,600 0
= 13,300
= 3,990
= 9,310
ZOHQ F=o1Eel = 26,600 26,600 0
= 13,300
[ 3,990
T 9,310
SOHQl F=ERIHZ ALY 26,600 26,600 0
= 13,300
== 3,990
o 9,310
402 2I2EX=201H 26,600 26,600 0
= 13,300
= 3,990
o 9,310
03 2IZ+LAEAIZ I 26,600 26,600 0
OFOHQ! BN EALS 26,600
= 13,300
= 3,990
[Ea 9,310
SHAHE & 2l 2,000 2,500 A500
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1,000
1,000
1,000
1,000
1,000
1,000
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1,000
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93,900
93,900
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4,200
4,200
4,200
41,700
41,700
31,500
27,500
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10,200
10,200
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- HyS

- SRA(E) - HIRAY

S - B

01 At22te|bl
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0
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0
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0
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RO
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350,000 122
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U
[0
M0

30
0B
[0
0

650,000 122
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30
i
[0
0

RO

0

A33,000
33,000

48,000
48,000
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